wA)SAS su[p 1S

L e

Prosper
Sliding System

BHICESDALOLRERLE HMBEDEDO DR,
HIBADZLEDIDSEFNEBERRDHZNITIIV—DRIA T INTIRT L,

A barrier-free sliding door system with a solid feel, born from an idea unconstrained by common sense,

an original manufacturing mind and an attention to detail.

EdE

Special features

O RHEICHKE§TEIN—R (RFM T4 IR 7L E) et b
FHE0mme A/ XIRREH DT, FlHIDHZZEICHEALYP
FLESTVET,

@ T L—IVICEESRT LEEHL. BB ATIEINN T 2L - EE)
L= EE 7Oy DEE T, KRS CENBEEERR, S
150kgbDEE CHRL— I, D OBEDICEINT ZEN TEET,

@ EADL—ILDHEWD, N7 I7U—SRIEbEL A 2REERET
DIEH LD NET

@ [he height-of the base (sliding-door mounting:part) installed-on"the
ceiling lis-only 50 mm(+-97"). Compact design makes it easier to
introduce into restricted spaces

@:The Top"Rail-is equipped with a linear motion-system and-achieved low
noise and excellent slidability’by the action of direct=acting rail"and
linear motion-blockdwith precision machining. It can move smoothly
and quiethy even'with doors weighing 150+kg(3311bs).

@ Because there is no rail on the-bottom, the range, of space design will
expand, not to mention barrier=free medsures.

O RT7ARIKIEHZRETILIDHDY LT IVTEELWME B, BED LS
HBEEITESMNEL o RURTEEDTLXHZOEHH
ATVWET,

@ —RDRSAT 4 IRTDEICO—F—NIVEFEHL L
&, NILMDTHEN ST AT F A TECT,

©® SANRENZDE Y2 P ERABICHIRAEN., & FFT
ShTVET,

@ The door"body is Simple and=has-a-beautiful-finish"of having only
glass and aluminum. It is-heavy fike a wall and it has a high“sound
insulation, and-it-also-suppresses shake and-rattling:characteristic of a
hanging door.

@ Becausg it.does.not.userellers-and. belts like ‘asgeneral-sliding door,
maintgnance Suefi-as belt replacement is unnecessary.

@ |t has*been adopted into the-luxury-apartments-of the Roppongi Hitls
and also the prime minister-s residence in=Tokyo, and-itshas-been
highly regarded.

WI)SAS 3u!p HS




wA)SAS Bu!p 1S

319

ﬁﬂ%% . 1n¥ﬁ0)$‘3.077\

{1 FYTLRILVD §57-012h M FE THZAD TV,
7 L= E, 45T N1F %, : WO KE %
[ - & LETEZ B A, 2ot EFoTw 5,
[E&H I, BESPITON TS, RHMAEHETONIMUIC

THECE LS TLE) Bk,

NET OB TOIENZBRIE. K CEL W,

<
RIENZIZL =V T 520w N7 71) =T, B 3DOHlF 720,

DOENEHEFPEEL, 51 EMICON T TN FEICD.
R T1y M35 BB S i

BOLPEMEDOTL —AF, I—F—DELIFTDEA A
TL—LEHTADHEETICE, REFLwa—F 7 &bk,
—HBkOTIEDOFE IR/ NS 225,
BEDOLZ2Z0FFRIAT L7290, LB TZZbYEET S,
ZEDYOEBRELATVEDIR, M {§ %55 TOHA

MEE ESN BN IBDOBEICHOENT, T 7% IE DO

FHEOBMAD, SI2H 5,

Epitome of confident reliability

In our quest for functional beauty that suits interior design, we have applied
ingenuity to the details. Everything is suspended from the top rail. When you
use the doors, they move without feeling heavy. Each door has a solid feel and
classy presence. Magic has been worked on the depth. We have pursued the
utmost functional elegance along each of the horizontal and vertical vectors.
With regard to height, width, and even depth, this creates impressive illusions
of space. Glass and frame, that is all there is. The door structure expresses
functional beauty. With no rail on the floor, the design is barrier free and
there is no restriction on height.

Designers have a free hand in creating space. Moreover, whether in a
monochromatic environment or in colorful surroundings, the doors are able
to rise to the quality demands of any interior design. The frame is smooth

to the touch and, naturally, the corners are finished beautifully. Since the
frame and the glass are in direct contact, there is no sealing material to

mar the elegant simplicity. Most people do not initially notice how much

this contributes to the overall beauty of the design but, to accentuate the
attractiveness, we take care right down to the final detail. This attention to
detail is supported by ingenious technical innovation that pushes the limits

to achieve a highly refined design. Each door has hidden depths of ingenuity.

Each embodies the utmost reliability.

Roppongi Hills Residence
Design : Mori Building Co., Ltd. / G2 Design Studio

CASE STUDY

Prosper Sliding System

2]
=
(=N
=
=]
1=}
2
1]
B

320



CASE STUDY

Prosper Sliding System

321 322



w2
p—
=
o
=
=
(13
@
<
P
@
i
=

wA)SAS 3u[p[[s

CASE STUDY

Prosper Sliding System

324

323



CASE STUDY

Prosper Sliding System

325 326



in roppongi hills

AR K e VvV X & HE E2#EH KB T 52Sliding Systemo
O A W E, 2O T VA THZ S,

The sliding system works its magic in every room in Roppongi Hills.

It's an optimal complement to the broad interiors.

L

%‘O BALCONY
7 T T

BEDROOM

J BALCONY

BEDROOM |

Y

} LIVING & DINING

I~

WASHROOM

1

BALCONY

al

O |

BALCONY

I,

LIVING

=i

[ E—

CLOSET

w e wn
J— i p—i
j=x ol : =xy
o : (=N
lrid [rid
= | =
) H BEDROOM G P
& =
@ BATHROPM o]
B BALCONY T B B
bs
WALK IN l@ [¢)
SHOWER
R(?OM b

WASHROOM

Tl |
[T = Ml A~HOREE. Hi~— Y F TN STV REEDT ¥ 7 LT,

T Ny :HJ — Il 5] X
/ " BEEDOLATORS L) Y7 LTVET,

Letters A - H correspond to viewpoints of photos on the preceding pages. Labeled
with the letters at bottom right, the photos were taken in the directions shown by

LIVING & DINING

BALCONY

BEDROOM

the arrows.

X2 GIZOWTIEE T4 v 7 AT A TEATA FIAL TOMAEDLETT,

BALCONY Photo G shows a sliding door used in combination with one our fixed panels.

O
CASE STUDY

Prosper Sliding System

328

327



AL TFA4T AT LD Technology of Sliding System

AIGAT AT AT LDOBERE  Function of Sliding System

AIATAVT AT LEM#ICU[EE Y XA T L]
BRICHEINMI RSN AZEEL —VICEE T Oy 7ABO25FDEEE %
KoL RL—ZZED ) K-V 6 BRI EEDP SBYET A—ILUF—
FHAR=IRLTOERE LTI ETRBSZAEEICL.CIU—-TICLBIEX
FEEROEGEI» A —ILOBRICK Y EFEIOEFhRELHE 2R RED
ALTFLRT)—PREGTENABEEERBLEL 1

B> X7 L Direct action mechanism

BAGDOY TN I BEDEVWTY A it
722y FTHEEETT 2y FTUINE D1
HEMEL ELWIRE Y O RILiGD & VBB %
i]}g To

Easily opening and closing with a single touch, the door unit
itself is both simple and harmonious in design and extremely
functional.

E &L — JL Direct action rail

E& 7 0y 7 Direct action block
iR &E=1000kg
max weight =2200Ibs

I RZ7L— b Endplate ; . .
Direct action mechanism

Precision machining of the surfaces of the two direct action components (rail and block), ensures the

smooth movement of the ball bearings, which circulate during the sliding action. A quiet operating

environment is established by not allowing the ball bearings to contact one another through the use

of an automated oil volume control. This also reduces friction between the ball bearings and results in

a freer sliding mechanism. Added benefits are a longer product lifetime and longer periods between

I > K< —)Jb Endseal

92
—
=0
[
=0
=

ae
%

329

WEHFX v FLHI2—GE EADL—LFENE & TEHE
FHEIDOBP LA ETEBLY TR ESBESERLE . H4h
= TOERANFIRET T,

For kitchen counters and similar situations, the absence

of a bottom rail greatly enhances its design potential.

This also applies outside the home to all kinds of commercial

design situations.

EARRZREZMAT > TRV TV 7HEBHL EDEVEFE Xy XU ER
BRUICNEVEFT RFL—IVDOFER FERTA NS L ZR/BRDIGICEE &
. ZOBICIS U BB I WP TEET,

When the doors are in use, they provide excellent interior partitioning. When they are not required,
they may be hidden away in the door casings.

The overhead rails are not obtrusive because the width of the groove in the ceiling has been kept to a
minimum.

A Precision Function

BOLILERES TESZMHICEA RY R7THEEOIT LY
HEIVXBHBMATHY) £ REICL—ILDBHEVDT, /N
TI7U—MREL TR FEERIABOT Ty MG
EPrFEREEEAE T,

Solid presence provides the same kind of excellent sound

insulation that a wall would provide, but without the wobbly,

grinding operation that is usually associated with suspended

doors. The absence of a floor rail means, naturally, that there is

nothing to impede barrier-free design. At the same time, when

the door is open, the floor surface is flat and continuous.

scheduled maintenance.

R~y 7’ L—JL Overhead rail

BEE#HTOvY
Direct action block

BEEL—L
Direct action rail

F+>%JL Channel

FEZA4 Door

~N—2 Base

50mm®»D /N7 MRS

FE X741 K& ¥ 3% N— XA Tt XH
E S3E,PSOMMEND AN—RILTEENT
32 ETHRIBOZRENGFIIZIAN. 50315
FRNDERERREIC L E T,

[ ] DERIHEEDHAEN]E
[by7L=IV]

BELEN—Z BEOSEHL — L& EET
Oy 7,Zh5D3DDEILEIN—YDEEE E
ZNDERAKRERCF v 2o by TL—IL
SISO/ INIPERNIRTVWET &
FARBABRMICED S VDT, EFREICbE N
55 FRBBOR b L X EEELET,

Compact 50mm (1.97") design

The door sliding mechanism is completely contained within the
base. The design of the base is so well conceived that a ceiling
recess of only 50mm (1.97") is required for the overhead
channel. This gives interior designers the liberty to use the
system to transform or enhance any kind of space.

The overhead rail has silence huilt-in

A solid base, high-precision direct action rails, and direct
action blocks ensure a very solid ensemble of parts. In
combination, these three elements anchor the door in the
channel. The overhead rail also demonstrates our expertise in
quiet operation. Going further, we have taken pains to eliminate
the transfer of vibration to the building structure, as well. There
is no need to worry about any extraneous noise disturbing the
neighbors when the doors are in operation.

HATARMDI by TL—]IEY > TILTTH 2FIHED T TN H Y T,
% The illustrated example shows an overhead single system ; a double overhead rail specification is also available.

HEMERRTE Cross section of vertical frame

45mm(1.77")

45mm(1.77")

XL LREEHERH - LEAE

FRISEN TV EEALEEY 1 — VRS DE L Y aq > MBS
TZHLTHNETOT. BFARVOTHAN S TEA REIEHSM IR E
DIANEE 2 7 AR 4 16 L T BB R AR H S X ET LI 0
T ZOBEBICL—YDI-F T EBI BV S TUBREHI L VEL & 4
BEEML L E L7

Door units that are both attractive and functional

Using aluminum, we have made extremely high quality modules that require little recessing and,
because the joints are brought together with such high precision, there is no warping or other
distortion. To realize other different finishes, the surfaces can be specially treated to match any design
scheme. In our simple design, there is no sealing material to mar the attractive functional elegance of
the combination of glass and aluminum.

w
=
=
larid
=
[1j°
@

330



I Single top rail / Single door (One way door) I Double top rail / Double door (Crossing door)

UGN TL—IV/AKE (KBIER) FTWhyTL—IV/28F (BIZEVF)

Without built-in box With built-in box

oIy T L= DREIF3000mmTT, ThEBABBEILERELIET, o STy TL—ILDOREIFZI00MMTT, ThEBABBEILERELIET,
© Length of Single top rail is 3000mm(9.84'). Rail may be extended. o Length of Double top rail is 3100mm (10.17'). Rail may be extended.
&% Product No.: STR-1 . &% Product No.: WTR-2A -
H® Material : 7JLI=r9 L Aluminum — === ) S/‘i:;e»‘g;gl/_» B Material @ 7JLI =7 L Aluminum [ gojg;l\{jvj)b
. . L\ ST 1 A . . I uble top rai
RESLIE Surface finish : FA(Z 74> T I3 AR) i Single top rail i ] FEMIE Surface finish : FA(Z71>7JL= k) (Anodized Aluminum)
FA(Anodized Aluminum) i i )
: ] :
i " 1
d " 1
H " 1
1
H i 1
| P | Y ;
i i ;
J " 1
J " 1
i " 1
i " 1
i " 1
i " 1

___________ 4 Il
VTN T L=VARE | 7L—L W)k R7 7L —LAKRE -1S(EX1£3000mmE T) KT Ny T L—ILRIE 7L—L(W)FiE R7 7 L — L2 F - 2S (& 1£3000mmE T)
Single top rail / One way door %) Door frame / 1 door : maximum height is 3000mm(9.84") Double top rail / Double door (%) Door frame / 2 door : maximum height is 3000mm(9.84')
A4 Product| #22& Product No. | Door Width (1pc.) B8 00~ 7% Total door width i dn 4 1 Product AIZ Product No. A4 Product | Y Product No. | Door Width (1pc.) 530 ~Fi% Total door width a4 Product AU Product No.
~750(2.46') éﬁg‘zv'aﬁgr SDF-45"X (~W750)x  (H) -1S-FA ~1455(4.77"
STR-1-(L=1500)-AS ~750(2.46' — WTR-2A-(L=1500)-AS ~750(2.46") |l [ WDF-A-45"X (~W750) X (H)-2S-FA
(GEIEIRIAY A Z )] 0
One way door with handle SDF-45" (~W750) (H)-H-15-FA m ‘
. . (GEIEIR)) 0 . .
" 751~1000(2.46'~3.28') 0 d SDF-45-X (W751~1000)x (H) -1S-FA " 1456~1955(4.78'~6.41
STR-(L=2000)-A | /211000 fe Ty coor__ . |wiR-2A-L=2000yAs | /211000 ' | WDF-A-45"X (WT51~1000)x (H)-28-FA
B (2.46'~3.28") (RBIER/~ FLAD e 1e0s W751~1000) X (H)-HAS-FA ClES1=0 (2.46'~3.28") m ‘ (Gl 10=0
(GEER)) One way door with handle A/;sz 7) A;zl/f 7)
One way door 10011500 | 1001~1500(3.28'~4.92') éﬁ:ﬁv'a%gr SDF-45"'x (W1001~1500) X (H) -1S-FA C“’?:'{;%g"or 10011500 1956~2955(6.42'~9.69' Cros,f't';%g“r
STR-1-(L=3000)-AS (3.28'~4.92) e WTR-2A-(L=3000)-AS (3.28'~4.92) [ I WDF-A-45-% (W1001~1500) X (H) -2S-FA
: : One way ’d:(;or with handle SDF-45"% (W1001~1500) X (H) -H-1S-FA : : m ‘
! ' (F31ZF) 0 . :
_ 1501~2000(4.92'~6.56") e D SDF-45-% (W1501~2000) X (H) -18-FA _ 2956~3955(9.7'~12.98
STR-1-(L=4000)-AS (41159021'~(2505060') Hﬂ ( )#%I;)E I FAD . WTR-2A-(L=4000)-AS (41159021'~62305069) [F il fl WDF-A-45-% (W1501~2000) X (H) -2S-FA
One way door with handle | SPF45 % (W1501~2000) x (H)-H-18-FA ”u ”u ”
XMEBIL T FER 12~208RE ARV ET, XA TRIFIBERTAELLE L, XANERIE Z R V12~ 20B/ERY ET, XA TRIIBRITAELZS L,
3Delivery will be 12 to 20 days after receipt of order and payment. ~ >¢Please prepare glass doors separately. > Delivery will be 12 to 20 days after receipt of order and payment.  >¢Please prepare glass doors separately.
I Single top rail / Double door (Center opening door) I Double top rail / Double door (ouble pull-into door)
UGNy TL—IV /2B E (BIEHUF) ETIWNyTL—IV/2BF 2KBIEAHF)
o SV JIRyTL—=IDREIFZ000mmTT . ThEBAS B IIEHELVET, e STy T L= DREFII00MMTT, ZThEBRB BT EHELNET,
o Length of Single top rail is 3000mm (9.84'). Rail may be extended. e Length of Double top rail is 3100mm(10.17'). Rail may be extended.
& & Product No.: STR-2 - ’ & Product No.: WTR-2B ] ,
8 Material : 7JLI=7 L Aluminum I ' ? N m e |'+““““-, #HE Material @ 7JLI=r7 L Aluminum m T T ~ frrrrinerg
REALIE Surface finish : ! ! ;:;e“;:plztf_)b i [Tk T FKEMLER Surface finish : | STNby T ST
FAG7AXTITAN)  mgwp, i H i e :Slngle top rail ] FA (74272 1R) : Double top rail | Daule op a ]
FA(Anodized Aluminum) Without : : : With : : FA(Anodized Aluminum) 1 | ]
builtinbox | 1 | builtin box i | f ! i
1 i 1 I I " 1
: i i l E : : |
SV [ =) Fn BB
: i \Tvﬁﬁk i i \’;i'h ] i \’l:\lilhg:; i \Tnm E
% : T Bt box : [ builtinbox | | builtin box | buitin box : ?
) | : ; | ] | : : s
3 : : : : : : i : 3
o ! | ] ; : . ll | : : b
r®s 00— P
‘E"" VTN T L—=LRIBE | 7L— LWk R7 7 L — L2 F -2S (7R & 1£3000mmE <) RTNbEy T L—ILRIE | 7L—L(W)% 77 L — L2215 F - 2S (7H & 1£3000mm# <) g
Single top rail / Double door %) Door frame / 2 door : maximum height is 3000mm(9.84') Double top rail / Double door (1% Door frame / 2 door : maximum height is 3000mm(9.84")
&L Product| B2 Product No. | Door Width (1pc.) B O ~F% Total door width @4 ¥R Product #3% Product No. BHRAT Poduct| #2 2 Product No. | Door Width (1pc.) B O~+% Total door width @A Product #J% Product No.
~1500(4.92) e qoor | SDFE X (~WTS0)x (W) -25-FA ~1455(4.77" i WDF-B45 X (~WT50)x  (H) -25-FA
STR-2-(L=3000)}-AS | ~750(2.46") Al T - WTR-2B-(L=2250)-AS | ~750(2.46") GIEARFBATIN L) 0
Center opening door with handle SDF-45- (~W750)x (H)-H-28-FA Pull-into door B type with handle WDF-B-45" x (~W150) X (H)-H-25-FA
_ R ER (BlEHFF) T ~ oa. - R Aq (5| SAHF-BEA7) p_eD) - 9q.
STR2-(L=4000}As | 7511000 1501~2000(4.92'~6.56') S S s SDF-45-X (W751~1000) X (H) -25-FA WTR2B-(L=3000)-as | 7011000 ao0 1955378 ~0.41) Pullinto door B type WDF-B-45-X (W751~1000)X (H) -25-FA
_ " (2.46'~3.28") Hﬂ ‘H GIESFEI N B N (Bl|&EAHE a (2.46'~3.28") (BIEBARF BRAT N FILAT) . p_ge0) - HoQ.
ézn‘t—frﬁt:;ejrﬁ]é Center opening door with handle SDF-45-X (W751~1000) X (H)-H-25-FA 3714-7°) M H ‘ Pull-into door B type with handle WDF-B-45 (W751~1000) X (H)-H-25-FA
door 10011500 2001~3000(6.56'~9.84' S g door | SDFAS X (W1001~1500)x (H) -25-FA e 1001 ~1500 1956~2955(6.42'~9.69' el WDF-B-45 (W1001~1500)x () -25-FA
9.l - N IH ” X (L= - M T 1M
STRZ(GI00AS | (3 28'~4.92') w H‘W H‘ e | SDF-45" (W1001~1500) X (H)-H-25-FA WIREHLIS | (5,28 ~4.02) I I I (G| BT FLED |\ 46 (W1001~1500) X (H)-H-25-FA
Center opening door with handle ) Rl Pull-into door B type with handle
N ' 13 1) | BIESIFF) 450 N ™ ~ 11298 | GIZAHEBAAT) 845" ~ 25
STR2-LLB0001AS 1501~2000 3001~4000(9.85'~13.12") oot opening door SDF-45-X (W1501~2000) % (H) -28-FA e —— 1501~2000 | ‘2956 3955(9.7'~12.98 | pul-into door B type WDF-B-45-x (W1501~2000) X (H) -2S-FA
= (4.92'~6.56') Hﬂ HH e ) B 8 (4.92'~6.56') ” \ \ (ISR B 71 BV | yypE. g gs ' (W1501~2000) X ()-H-25-FA
Center opening door with handle SDF-45x (W1501~2000) X (H)-H-25-FA Pull-into door B type with handle " Tesr
XML T RIER K12~208 LAY ET, XA TRIIBIETARLLEL, MINERIE S RTHR H12~20BME ARV ET, XATRIIFIEIARI-ZI L,
3Delivery will be 12 to 20 days after receipt of order and payment. ~ >¢Please prepare glass doors separately. Delivery will be 12 to 20 days after receipt of order and payment. ~ »¢Please prepare glass doors separately.
1+ £ Finish (REDH%AICH L% THEE &S, Please specify the finish behind the part number) 1£_ELS Finish (RFED%SICH EIF%TIEE &, Please specify the finish behind the part number)
| I FA (774> TIL=A k) | I FA (74> TIL=AR)
Anodized Aluminum Anodized Aluminum

331 332



92}
=o
=N
=
=]
e
2
v
I
5]

333

I Double top rail / Four door (Four crossing door)

ET Wby TL=IV/AF (445 %E

W)

e STy TL—IDEREIEZ100mmTT . ThEBAZBAIEEHELET,

© Length of Double top rail is 3100mm (10.17'). Rail may be extended.

@& Product No.: WTR-4A

#E Material @ 7JLI=r7 L Aluminum

RELLIE Surface finish : FA(Z71>TIL=Ak)
FA(Anodized Aluminum)

= STy TL—b
i Double top rail
111

XTI by T L=V F

7L—L(W) ik

K77 L —L/AKF -4S (B & 133000mmE T)

I Double top rail / Four door (Four pultinto door)
STIWhyTL=I/AF (AKBIEGAHRF)

o STy TL—ILDOREIFZI00MMTT, ThEBABBEILERELIET,

o Length of Double top rail is 3100mm (10.17'). Rail may be extended.

&% Product No.: WTR-4B
#'E Material © 7ILI =7 L Aluminum

ATy TL—Ib
Double top rail

Double top rail / Four door a0 Door frame / 4 door : maximum height is 3000mm(9.84")
PEmATT Product | #23 Product No. | Door Width (1pc.) B8 00~ 7% Total door width 47 Product AIZ Product No.
~2910(9.55'
WTR-4A-(L=3000)-AS | ~750(2.46") H i mw“ i “ WDF-A-45"'X (~WT750) X (H)-4S-FA
751~1000 2911~3910(9.55'~12.83' -
__ |WTR-4A-(L=4000)-AS , . [ [ [ I e — |WDF-A-45-%x (W751~1000) X (H)-4S-FA
Gl (L=ADOAS | (0.46'~3.28) | ”“ [ GlzgE. ( ) (H)
ARA T AZA T
Crossing door - o ‘ Crossing door
Atype 1001 ~1500 M TTE 3911 5910(1283 TTE 1939 )IHI Atype m}
WTR-4A-(L=6000)-AS ) f WDF-A-45-% (W1001~1500) X (H) -4S-FA
Gasae) | [ o
5911~7910(19.39'~25.95")
_ . 1501~2000 T | _A-AG- ~ 48]
WTR-4A-(L=8000)-AS (4.92'~6.56') ”“ ”u ”M“ HM ”“ WDF-A-45"X (W1501~2000) X (H)-4S-FA

MINERIZ CFE R 12~ 20B/MEARYES, XA TRIFBRIAELLZE L,
3 Delivery will be 12 to 20 days after receipt of order and payment.

3Please prepare glass doors separately.

I Double top rail / Four door (Four pulkinto door)
TNy TL=IV/ARF (AXBIEAHF)
e ZTNWMyT L= DREIEZ100mmTT . ThEBAZHA I ERELVET,

o Length of Double top rail is 3100mm (10.17'). Rail may be extended.

&% ProductNo.: WTR-4B
#E Material © 7JLI=r7 L Aluminum

REAIE Surface finish : FA(T 71> 7 I 1R)

FA(Anodized Aluminum)

i Il L\ gL
| i Double top rail
F&REL : :
Without i \
built-in box : :
1
1 .
1 | FEEL
: : Without
i i built-in box
i 1
1 J
1 i
[ 1
1 1
: il i

XTIy T L— LA E

7L—L(W) %

K77 L —L/4F -4S (B & 133000mmE T)

Double top rail / Four door (%) Door frame / 4 door : maximum height is 3000mm(9.84')
@A Product | #2Z Product No. | Door Width (1pc.) BH 0 ~Fi% Total door width & 4R Product AUE Product No.
~2910(9.55'
WTR-4B-(L=4500)-AS | ~750(2.46') "‘m“’—“‘”“ u H WDF-B-45"% (~W?750) X (H)-48-FA
(BlERAHZF- ~ i ! (BlERAHF-
BXAZ) | wi.4g-(L6000)-AS | /211000 P oy BXAT) | D845 X (WT51~1000)x (H)-4S-FA
Pull-into door = (2.46'~3.28') ”u ”u ”“ HM H Pull-into door
B type B type
1001~1500 3911~5910(12.83'~19.39' .
WTR-4B-(L=9000)-AS . . I [ [ I WDF-B-45"X (W1001~1500) X (H)-4S-FA
s e | [T T T e

MANERIF TR 12~ 208 ey
XA ZREFEZRAEIZE N,

3Delivery will be 12 to 20 days after receipt of order and payment.

Please prepare glass doors separately.

ED

1+ £ Finish (REDH%AICH L% THEE &S, Please specify the finish behind the part number)

FA (Z7A»TIL=AR)
Anodized Aluminum

[} 7 ]
RELIE Surface finish : FA(77 1> FLwAR) | ) T 1
FA(Anodized Aluminum) : : :
i ) :
1 1] 1
1 1] 1
1 | 1
; . :
i Fi&sY) ! FiH) 1
I With ) With ]
1 built-in box : built-in box ]
i : i
1 1] ]
1 1] 1
N : 1| — || R
KT N by 7 L— IV ARE 7L —LW)HE F7 7 L — L4t F -4S (S & 1£3000mm E T)
Double top rail / Four door 1% Door frame / 4 door : maximum height is 3000mm(9.84")
AR Product | Y% Product No. | Door Width (1pc.) B0~ 3% Total door width 7847 Product AU Product No.
~2910(9.55'
WTR-4B-(L=4500)-AS ~750(2.46") m i ”M“ ‘ WDF-B-45"X (~W750) X (H)-H-48-FA
(BlZR AP 2911~3910(9.55'~12.83' (slZAHF
B&A7) ~ 751~1000 m 7 : — BEAT I\ FILAT) 0 ~
Pull-into door | WTR-4B-(L=60001-AS |5 46: 3 9g H ‘ ”“ ‘ ‘ Pulkinto door | WDF-B-45-X (W751~1000)X (H)-H-4S-FA
B type B type with handle
1001~1500 3911~5910(12.83'~19.39" .
WTR-4B-(L=9000)-AS \ \ [F fF fF I WDF-B-45-% (W1001~1500) X (H)-H-4S-FA
s e | T
MINERIE T ROF R HV12~20H-E Y T,
KA T RFRET AR,
> Delivery will be 12 to 20 days after receipt of order and payment.
Please prepare glass doors separately.
FIX Partition
FIX/X—=F123>»
& Product No.: FIX-1R
#E Material @ 7JLI=r7 L Aluminum
RELIE Surface finish : FA(T 74> 7L< Ak)
FA(Anodized Aluminum)
14 258 35 45
1 partition 2 partition 3 partition 4 partition
2]
=
=
=
[ [ D)
— FIX7 L — 4 (B (£3000mmE ©) g
Widt\h/ FIX frame : maximum height is 3000mm (9.84")
= D1F 1 partition 23& 2 partition 33# 3 partition 43& 4 partition
~750(2.46') |FIX-1R-45"X (~W750) X (H)-FA |FIX-2R-45"X (~W750) X (H)-FA |FIX-3R-45"% (~W750) X (H)-FA |FIX-4R-45"% (~W750) X (H)-FA
(27‘51;.:1302(;.) FIX-1R-45"X (W751~1000)X (H)-FA |FIX-2R-45"X (W751~1000)X (H)-FA |FIX-3R-45"X (W751~1000)X (H)-FA |FIX-4R-45"X (W751~1000)X (H)-FA
(;020;.:159020.) FIX-1R-45"'X (W1001~1500) X (H)-FA |FIX-2R-45""X (W1001~1500) X (H)-FA |FIX-3R-45"X (W1001~1500)X (H)-FA |FIX-4R-45"'x (W1001~1500) X (H)-FA
(159021.:(2505069) FIX-1R-45"'x (W1501~2000) X (H)-FA |FIX-2R-45"% (W1501~2000) X (H)-FA |FIX-3R-45 (W1501~2000)X (H)-FA |FIX-4R-45"'x (W1501~2000) X (H)-FA

KINERIE Z TR 12~20BM Y £,

KA ZRFIERIAELIZE N,

>Delivery will be 12 to 20 days after receipt of order and payment.

Please prepare glass doors separately.

1£_ELS Finish (RFED%SICH EIF%TIEE &, Please specify the finish behind the part number)

FA (Z7AY T =A )
Anodized Aluminum

334



VGV T L—=IV 1 FE Single top rail for single door / Drawing

STy T L=V 18 FE Single top rail for single door / Parts

OT LIy TL—IVICIREEI D R T LEE YL TWVET,

o7 IINITL—LDREMNEBIE T 71T IVIANERBL TVWET,
© Aluminum made top rail includes direct action mechanism.

® Anodized aluminum block or plate is used for a part of the frame.

95(3.74") R
70(2.76")

227 Wy T L—JL Single top rail

7Zv7 Flap

X3 Ceiling
M= M4x30

/ Screw M4x30(1.18")
o

AT AFr2Ib
Stainless steel channel

' 1237 v+ 12mm(0.47") Washer
M1278JLh Bolt M12x30mm(1.18")

Frra— H P gwfvf g IV BotMB20079) .
\— pecet | E&70v¥ Direct Action block
/I ! %;%;]WIS\COVGI E&L—JL Direct Action Rail
M%< M4x25
M8% 7 M8 Screw cutting

EE# Ceiling

Screw M4x25(0.98")
Sy 7 ALk Bolt M6x30(1.18") F,,, i} =g A ‘
M=% M4x20 \_With foundation paper ot
Screw M4-20(0.79) - b BotMBROOTY) &S —_—— b ——— H
Iy ‘

50(1.97")
O

fEHN—(FEA)
Vertical frame cover

= < Ly s Sl el e = ey Sy
(for built-in box side) D + D |

+vaz Cushion

T
—) i 2L AFpL I ik \ i
| 4 . | JE K S
3 :‘ Stainless steel channel t3mm(0.12 BRI I TT 7%; 7
\
\
\

#EHN—(NRIVF)
Vertical frame cover
(for handle side) -
| Bl Side view |
- ‘. \
B ° ) — — 16 #F X t6mm(0.24") Glass
& Wl oo =4 Bull-in bor e |
Glass 6mm(0. 4,,) thick aste a film to prevent to scatter the glass
Py

EX

e |’ 45(1.77") 5217 [1:1g
o 0 15 o 30(1.18") 30(1.18") & (0288) RSN =0
0.59" k DDh LIS o
- il I D Builtinbox
IR Handle 0 o @ B 9 : B
HJJ 707 —#4FK Floor guide 4 ‘
(BB I1445P. 336 EER) R —
See the right drawing in P.336 for installed position. 3 -
o HAE (R L) ﬁ?x#*fx Glass si_ge 9 4@, -
o” Vertical frame(for built-inbox side) e RIHET L AERES TS ALY )
Use safety glass or equivalent safety film. - =
M=% Screw :10 & .
HE Floor p— m 4x26(0.79“) M3 Screw M4x30(1.18") (. -l
Glass 6mm(0.24" . ., MEE
F4E Bottom frame W inside size +16mm(063) F4y 7K IV Bolt MBx30(1.18") REERES £ \\all
W L - W As+16mm M
5 7L— L Aluminum frame _ 1 |
<2 Ng S | ‘ 72
= HHE (N RIVEIF) EIE | =
= Vertical frame (for handle side) 5|5 u =
H Flg e 5
Py Eld H R
Z K2 ) 2
i I|= - ;
g = 2
= =]

W/N—"/ % Parts List
OTFE/N—=VRIITNVEATIIRELEHES Y bEhTWE T, Thefollowing parts are supplied with single door sliding system. \J \
5

(1.77"

707 —7#4 K Floor guide

YA X W35XD35XH23
Size : W1.38"XD1.38"xH0.91"

# E:POM (KU 7+x—ILhg)

Material : POM
/ FL
22(0.87") 22(0.87")

2~ —H — Spacer

HAX 1 W30XD30%t0.5&1.0
Size 1 W1.18"xD1.18"X10.02"& 10.04"
M H:XFLR

Material : Stainless Steel

7+ > 3 > Cushion |
HAZ: p8E X 12.2 1
Size : $0.33'%10.09"

B ERREEE
Material : Transparent soft PVC

Z by 7¥— Stopper

HAX : W30XD10XH15
Size : W1.18'xD0.39"xH0.59"

# & :POM (KU 7+%—Itlg)
Material : POM

.

| S

35(1.38")

1 ;.H
1

|

|

|

t

18(0.71") -

ek bl sl

L

7O7—H1K
Floor guide

)

|
NN ST7

22(0.87"),

707 —71K Floor guide

& Floor

335

Z Ry N—=lETL—LHEE(FYY)) £ 43
HICIEHZHDTT, 2T1F7 1> J KT
ERYTHTHSMUBARDE L TR T
B,

Stopper is installed at the edge of top rail to avoid
direct hitting between frame and the wall after
installation of sliding door.

TJA7—HA KRB ITL—LDETLRHZ
YXEBLETZHDTT, RICEEXVIE
HLTLEEL,

Floor guide is fixed to the floor to prevent lateral
movement of sliding door.

ANR=Y—FXF L AF v EE
EDOEICELRAA, TL—LERDLAN
WERETZHDTT,

(05MMEE 1TMMEE ZHEBELTVWET)
This part is used to adjust stainless steel channel
and top frame.

0.5mm (0.02") and Tmm(0.39") thickness.

Tyl arlE Il —LER (FYY) 7
L—LRATH EELDZDERLETIEH
(. MEAN—ZMEXTILEDHE. 2D
BEERTHDTT, (REICH T EEW)
To avoid direct contact between frame and wall. Also
hides a screw head. Install last.

336



HATIVNyTL—=IV  2¥LF Double top rail for double door / Parts ATV T L=V 2¥LF Double top rail for double door / Drawing

o7 IILINyTL—ILIZIZEEH Y AT Lty L TVET,
o7 IINITL—LDREMNEBIE T 71T IVIANERBL TVWET,
© Aluminum made top rail includes direct action mechanism.

® Anodized aluminum block or plate is used for a part of the frame.
164(6.46")

140(5.51") o 12

27Uy T L—JL  Double top rail

X3 Ceiling B

7%y Flap
- N | |
AT L AF oIV T (| =
— Y W Stainless steel channel [ v \ v ] 2 §
! ! . o ! (2 7 ! 123YHTy 4 12mm(047") washer
T ﬁ M3 M4x30 A‘J h‘l M12:K)Lk Bolt M12x30mm(1.18")
it AN—t— Screw Mdx30(1.18") EEL—L EEHTOyY Q5
. H\JIZ/ MAX25 Spacer . F AR Direct Action Rail C j‘ | Direct A(/:tion block EE
Jbo= Serew Mdx25(0.98") Fy7AL SoewMA5(02) ‘ T Mgsy
Stopper : Fouk BoltMex30(1.18) N JIL 56 MO M8 please oxpain
Bolt M8x20(0.79") cL . L 8 4 N> i) 1
N HiE I \ _ _(D:H) _ With foundation paper ; ‘
L AE273— Top frame cover Top frame B == FIUR Bolt M8<20(0.79") | |
¢ i ZFRF v Y 2 |
2 i1 Hetet b »
= O u O - < gt gl il I
3| Z~e—4— Spacer L ™
i D D %O?ng%hgcskﬂeshs 1k 0.04") ‘ ‘
= — "x1.18"x thickness 0.04"
EE o ﬁ - E *LNIVRBOOLELIGE J
| || For level adjustment if needed
Wall 2sll |l |
: ol | ide vi
> 67 | ] ‘ fIER Side view
Glag 24") thigk o | Cross se |
124") Built-in box | ‘
s ‘ ; rﬂ 6(0.24") 16 #5 X Thickness 6mm(0.24") Glass ‘
AUKIL o - | (FRAIBALE 71 L L:BEV)
(Paste  film to prevent to scatter the glass)
Handle | |
o t6H TR |
Glass 6mm( \H H‘
| A Al .
2 .| . A=
0 Ln_:ov T oo = R
/ TL—LAAK 2 88 == — STL
Frame guide _ . N D MM I rer—— — LA P
0 (B B i45P. 338 ME L) R B F&hN— b= S ¥ e — = ! Zlm bR
= See the right drawing in P338 Built-in box cover N R R = it T - —
for installed position. hN— (FEEA) ézﬂgé‘?ézg;ﬁ%% Njo é [ ATL—L Frame A = 55(2.17") g
PN - 5 Vertical frame cover L& AP 338 E S = _ il | ., s ]
/= Vetial fame covet (for built-in box sice) Se the right drawing in P33 15 | 30(1.18) DE i A S0(1.187) 4 25(0.98) s
HHE (FEAAIA) for installed position. (059") 51 771 _ —
Xﬁ?‘,ﬁj}.{‘?n”‘ beox sy DZZFAX Glass size e il B B7L -4 Frame B
(FRBURALE 1L L E B T<FEEL) L | o -
> “F4E Bottom frame Use safety glass or equivalent safety film L — < — — :
mx> M4ax20 e — e ———
soen 20079 N\ |, || & . P& Floor s = Eﬁ R -
oY RHE Vet onax 420075 R Cross section R SEEttt
/° HEAE Vertical frame Glass 6mm(0.247) thick Screw M4x20(0.79") B
W inside size +16mm(063') F 1y 7 FRILk Bolt MB:30(1.18") 2 -
HySsmss Cushion B7I/—L\ Frame B W =F+16mm - | M= Screw M4x30(1.18")
w _ M M w
5 E i ] &
2 E|E ' : l=5
5] 5|5 ] | 2]
e Tl e ‘ ‘ [1j°
G 2 | ! &
g z|£ \ | e}
= = [ [ uE =
W/X—"J % Parts List 1 1
OTFE/N—VIRETINEA TICDEBELHEED Yy I TWET, Thefollowing parts are supplied with double typed sliding system. ‘415‘ .77 uﬁ‘ (1.77"
Z Iy 7¥— Stopper 707 —44 K Floorguide | 7L —L#H1 K Frame quide Z~—4 — Spacer 27+ < 3 > Cushion ‘ ‘ ‘ ‘
HA4 X : W30XD10XH15 YA X 1 W35XD35XH23 YA X 1 W35XD3I6XH32 H4 X W30XD30X1t0.5&t1.0 YA p85Xt2.2 h
Size : W1.18"xD0.39"XH0.59" Size : W1.38"xD1.38"XH0.91" Size : W1.38"XD1.42"XH1.26" Size : W1.18"xD1.18"%t0.02" & 10.04" Size : ¢0.33"X10.09" - }
# E:POMORUT7E&—lE) |# E:POM(KUT7tE&—IlE) |# E:POMOKU7E&—IilE) |# EH: 27> L2 M EEPRAREEE I |
Material : POM Material : POM Material : POM Material : Stainless Steel Material :Transparent soft PVC = S [ R
- 2 O e Bl 35(1.38")
o’y ol = | ===ttt == ]
1 i I
L |
5
6 & s IO7—#1K Floor guide ‘| |
FL 2 i Vo NIc NG
TL—LAHIN 7O7—H1F
’ - 22
22(M87") E;g%?ggﬁ) (02;_.,)4 Floor guide F/.E Floor 067
ZAhyN—FTL—LDEE (FY | 787 —HARETIL—LDWET | TJL—LHIRIZATL—LDHE | ANR—Y—ERATFLULAF v |7y oaidTIL—LEBEPT Fixed in Vertical frame(Built-in box side)
W) EUBHICIEDZHDTY, [ LPHRZYXERETELDTT, (IEOTICMUMIFTAEBIL — | VEHEDMICELAA, TL— |[L-LREAEERLDDEHLE
AFZATATRT7ERYTIC|RICEZERDLEDLTLLLZE N, LEIIALITEIHBDTT, A| LERDLANNLVERETIHNOT | TEHIC. MAN—2MEXT
POMBERD & LTI T TL—LDXZARICERTB7 | d, (0.5mmEEIMMEAZA | EDAE XPOBEERTHOT
T, L—LbHbRATIRLET, BLTVWET) To (RBICEE TSN
Stopper is installed at the edge of top rail | Floor guide is fixed to the floor to prevent | This is set at the bottom of vertical frame | This part is used to adjust stainless steel | This is to avoid direct contact between the
to avoid direct hitting between frame and | lateral movement of sliding door. of Frame A in order to join Frame Aand | channel and top frame. frame and the wall.
the wall after installation of sliding door. Frame B. 0.5mm (0.02") and Tmm (0.39") Italso hides a screw head. Install last.
thickness.




FIX/S—35 13,3/, 23 Fix Partition / 2 doors / Drawing

FIX/S—541<,3> 23 Fix Partition / 2 doors / Parts

e 7INITL—LDREMIEFEB2T7 IV EHELTVET,
e REMELDTIVIHN—DREANIBIET 71> TIVIAMEBLTWETS,
® Anodized aluminum is applied to the surface treatment of the aluminum frame.
® Anodized aluminum is applied to the surface treatment of the aluminum cover.
F47y T ARIVK Bolt M6x45(1.77")

LA /N~ aEIHN— LEAN—
ELLLL SRl [7iE S Cross section C-shaped cover /M

AN—H— /97 $6X50 ket
5k S—25x18 Spacer Kootk _E"F4E Top / Bottom frame ’ . ‘ / askel
Flat bar LTHE B6<50(0.24'%1.97") O = ] S —————— = —————— =
i 25xthickness 8 Top / Bottom frame Y =o
9{# Ce|I|ng (0.98"hickness 0.31") ~ 3 ! @E}—@ | —@-E}—O—**** '*”‘-@—Bﬂ O
Py = I NE N
———— | M~ ! e - L o - -
. } = i <& ) I e B e— D s |
0 FryTARIL _— i L <] | | N /- [ n ’ B {
Bolt M6x45(1.77°) — = R S = e = '**ﬁf}* ”””” HOE - e — ‘\%7? — - — KO
o g ‘ C ] C B
RN—t— = . =B R -k N
— Spacer 30x30xt 1(1.18"1.18'xt 0.04") LA /N — \7‘171*7*’*" = 16 5 A thickness 6mm(0.24") Glass HHEHIN—
, ;E7 L—L FRNITI PRI ‘ L-shaped cover Glass support f# Ce| ||ng G SZIIN D)) Vertical frame cover
Ej L—LA R |ght frame Aluminum flat bar t 8(0.31" ! P . (Paste afilm o prevent {o scatter the glass) i
Swh/S— AR Left frame - 45(1.77") o TEBO T Optional required size 45(1.77") o TEBOTE Optional required size 45(1.77") +340.2")
. 7Tk Left f
T Flatbar et irame || —=PiE HiE a0057) | . 1 IR
o 25xthickness 8(0.98"xthickness 0.31°) Center frame Right frame B CL- —] Bl TN T T T Tt T T T o o o o N . o o o 7
Bolt M6x30(1.18") -+ N e ‘ 1
= P Ta T L I T T T T
Fy T AL 'yl gl oAbl
; ‘="/BD\!M5><30(1.18") ~ O : s \ l T Tﬂti WL
™~ = ! —_——
[} = ' -
B2 Wall = g 2 | b= T
g ‘ 5 | T S
o 55— =l Fr1-4---F==+]-+- i e |
2 #5 X4 K~k Glass support - ®) ) rqj‘ e \ ﬂ%lfki = g ‘LL T j‘, e ‘Lﬂj
" | ol g - ey = T e e
_ _— x | El | | ﬁ x o x
11— - I =
, — = = \ ‘ ‘ | g ‘ | | || %y T HILk Bolt MEX30(0.98") | | \ |
n m [ \ ! ‘ |1/ o
" = \ | | \ }T - [|  #%vyZ#h Bolt Max1200.47) || \ \ \
° NETEV | \ I N
| L-shaped cover , ~ ‘ 1» = N " 7&;ij
\ I 1 AR T e
: = @ | | | | |
TSohS— Flatbar | = ||| | \ | o |
25xthickness 10(0.98" thickness 0.39") I od : ‘ } ‘ ‘ ‘ ‘
o 0
o = | | | | |
EE Floor op / Bottom frame +TFE u | [ | | |
e ‘ Top / Bottom frame . [ | | |
w72 Knock pin BHEAHIN—
[; . 96:300.264.87) Vertical frame cover ‘ | | !
HIRYH— 645X <] \ | | !
Glass support Glass/6mm((.24") thick OFIXIN—=F 1233 TL— LR G RTIVIHN—£EDIAHE T, (BP.340KESHR) g \ ! ! |
For FIX Partition, fit the aluminum cover after assembling the frame. See the right drawing in P.340. £ | } } }
£ \
A ard HZ XY X Glass size S ! ! ! !
(Gasket (FRBIBHIE 70U Lk BE S TEELY) 8, ' . i . .
Use safety glass or equivalent safety film _E ‘ | ‘ ‘ ‘ | | |
s | | \ | | Lo
HIZYH—h 6752 ol \ \ \ o
I /,/ Glass support Glass 6mm(0.24") thick o | I } | | | | | |
W' inside size +18mm(0.71") ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘
W Past+18mm \ ‘ ‘ | \ ZIL—Ls \ \ AIL—L [ \ \
& - } o \ } Left frame } } Right frame } } } =
£ J : B | | | R £
=} E E - | =
@ 75 \ | | ‘ \ \ \ | w
2 gs I \ \ \ I 4
Z gl | 2
g HIASH—k g \ | | | \ \ \ L g
Glass support =|T \ ‘ | [ \ \ \ \ \ \
~ N j L, _ . L1
R . | ‘ 1 W) ‘ 4T e = —F=adr e =3 —tF
W/N—"Y & Parts List \ | ‘ \ | I |
OTFRBNN—VIBFIXIS—FT 1 a3 U ICBELZHEN Y IR TUWEF, The following parts are supplied with FIX Partition. } \ ] } } } } } }
— N T . . R 5 L .
75 h/N— Flat bar # 5 24K — h Glass support Xy % > Gasket Z A — 4 — Spacer } | | Lsheped cover } } } } } } MGyt } }
| | olt M6x45(1.
H#4X :18X25 & 110X25 HAX 117.5%14.2 H4 X 112412 44 X :W30XD30X10.5841.0 ‘ N '/‘ ‘ R | ‘ ‘ T\
Size 110.31"X0.98" & 10.39"%X0.98" Size : 0.69"%0.56" Size : 0.49"X0.47" Size : W1.18"xD1.18"x10.02"&t0.04" = J ‘ L ] —— —— |
N rr-b——Jd___1__ [ P -
#OE TS (TOULBHGBRIEL) [ # H: 7A3 (B2 TATAMEE) #OH e #OE:x7 L O 0 N ke T i = : :
Material : Aluminum(Baked acrylic acid resin surface) | Material : Anodized Aluminum Material : Flexible vinyl chloride Material : Stainless Steel = ‘ - | ﬁ — UL _ T‘ R
™~ l
MERED =t D T _— <<
S = Screw 2 (N ‘ } ﬂi" iiﬂjf o &‘ N I S A‘t
= = D d T IO Sttt | T s it
ﬂ Q — ¢ ‘
= — RN |
M4X12% 4y 7RIk TIITZYRN—110 M6X45% vy TR ILh i/v7l:f‘/¢6><50
Bolt M4x12(0.47") Aluminum flat bar t 10(0.39") \_Bolt M6x45(1.77") f?F Floor Knock pin ¢6x50(0.24"x1.97"
TI9MN=@BFIXTL—LDN=ZEL | HAFZAYR-—PEHFZZETL—LICEOA | Ny XL EHTZAD AFICIEDRAAH TR | A=Y —F T 5y bN—& LIEDFEREIC
T RHF-B-ROSAICBMIFITNS | AFEHE, TL—LICHIXEREZIAAT | 2RELTIL—LICEAETIHNDTT, |[ZELAAH. F+v v TRILITRHADT Ty
FIX7L—L&EX vy TRIVICEELES, | ¥ vy TRIVICEAETZHNTT, FN—ETL—LEBELE T, (0.5mm
B 1mm B#ZHBELTVWET)
Before installing FIX frame, use Flat bar at ceiling, After fixing glass into frame, fix Glass support by Attach Gasket around the glass to protect glass and | This part is used between the Flat bar and the Top frame as
wall and floor as a base. bolts. place firmly into Frame. an adjustable spacer. It uses a bolt as fastener.
0.5mm(0.02") and 1mm(0.04") thickness.




	M_SLIDING_扉
	329-340_M_SLIDING

